
Apprentissage par renforcement actif 
●  Dans	
  le	
  cas	
  passif,	
  le	
  plan	
  à	
  suivre	
  est	
  pré-­‐déterminé	
  

u  peu	
  u5le	
  si	
  on	
  ne	
  connaît	
  pas	
  le	
  plan	
  op5mal	
  à	
  suivre	
  
	
  

●  Dans	
  le	
  cas	
  ac'f,	
  l’agent	
  doit	
  aussi	
  chercher	
  le	
  plan	
  op5mal	
  
u  l’agent	
  doit	
  simultanément	
  chercher	
  le	
  plan	
  op5mal	
  et	
  sa	
  fonc5on	
  de	
  valeur	
  
u  V(s)	
  est	
  maintenant	
  une	
  es'ma'on	
  de	
  la	
  fonc'on	
  de	
  valeur	
  du	
  plan	
  op'mal	
  
	
  

●  Dans	
  le	
  cas	
  PDA,	
  trois	
  changements	
  sont	
  à	
  faire	
  
u  on	
  va	
  es5mer	
  P(s’|s,a)	
  pour	
  plus	
  d’une	
  ac5on	
  a	
  (toujours	
  à	
  par5r	
  des	
  fréquences)	
  
u  on	
  applique	
  value	
  itera+on	
  au	
  MDP	
  es5mé	
  (c.-­‐à-­‐d.	
  on	
  résout	
  les	
  équa5ons	
  pour	
  la	
  poli'que	
  

op'male)	
  	
  
u  l’ac5on	
  choisie	
  par	
  l’agent	
  devient	
  

	
  
	
   	
   	
   	
  	
  	
  	
  	
  	
  π(s)	
  =	
  argmax	
  Σ	
  s’	
  ∈	
  S	
  P(s’|s,a)	
  V(s’)	
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Appentissage actif avec PDA 
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argmax	
  Σ	
  s	
  ∈	
  S	
  P(s|s’,a)	
  V(s) 
a	
  ∈	
  A(s)	
  
	
  

Value	
  itera'on	
  
	
  	
  	
  V(s)	
  =	
  R(s)	
  +	
  max	
  γ	
  	
  Σ	
  s’	
  ∈	
  S	
  P(s’|s,a)	
  V(s’)	
  
 a	
  



Appentissage actif avec PDA 
●  Rappel	
  de	
  l’exemple	
  :	
  

	
  
	
  

●  On	
  a	
  des	
  ac5ons	
  possibles	
  différentes,	
  pour	
  chaque	
  état	
  
u  A(s0)	
  =	
  {a1,	
  a2}	
  
u  A(s1)	
  =	
  {a2,	
  a3}	
  
u  A(s2)	
  =	
  {}	
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Appentissage actif avec PDA 
	
  

	
  
●  Observa5ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1→	
  (s1)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1	
  	
  

	
  
V(s0)	
  =	
  -­‐0.1	
  +	
  0.5	
  max{	
  0.5	
  V(s0)	
  +	
  0.5	
  V(s1),	
  0	
  } 	
   	
   	
   	
  V(s0)	
  =	
  -­‐0.1	
  
V(s1)	
  =	
  -­‐0.1	
  +	
  0.5	
  max{	
  0,	
  V(s0)	
  } 	
   	
   	
   	
   	
   	
   	
  V(s1)	
  =	
  -­‐0.1	
  
V(s2)	
  =	
  1 	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  V(s2)	
  =	
  1	
  

●  Pour	
  choisir	
  quelle	
  ac5on	
  prendre,	
  on	
  compare	
  
u  Σ	
  s	
  ∈	
  S	
  P(s|s’,a2)	
  V(s)	
  =	
  0	
  	
  	
  	
  (puisque	
  P(s|s’,a2)	
  pas	
  appris	
  encore	
  pour	
  a2)	
  
u  Σ	
  s	
  ∈	
  S	
  P(s|s’,a1)	
  V(s)	
  =	
  0.5	
  V(s0)	
  +	
  0.5	
  V(s1)	
  =	
  	
  -­‐0.1	
  

●  L’ac'on	
  choisie	
  par	
  l’agent	
  est	
  donc	
  a2	
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